Preliminary Bid Tabulation		American Screening		AVCO Enterprises		Bisonte Industrial		Bound Tree Medical		Buyers Point LLC		
Line Item	# of Cases	Description				Bid Price for 125 Cases	Bid Price Per Case					Bid Price for 125 Cases
Section B												
3	125	Size Medium	\$195.00	\$24,375.00	\$105.46	\$13,182.50	\$66.50	\$8,312.50	\$97.60	\$12,200.00	\$53.21	\$6,651.25
4	125	Size Large	\$195.00	\$24,375.00	\$105.46	\$13,182.50	\$66.50	\$8,312.50	\$97.60	\$12,200.00	\$53.21	\$6,651.25
5	125	Size X-Large	\$195.00	\$24,375.00	\$105.46	\$13,182.50	\$66.50	\$8,312.50	\$105.60	\$13,200.00	\$53.21	\$6,651.25
		Grand Total		\$73,125.00		\$39,547.50		\$24,937.50		\$37,600.00		\$19,953.75
Brand & Mod	del Information	ı	Power Form # PF-95BL 50/Box 20 Box Case		#53102 (MED) #53103 (LG) #53104 (XL) 100/Bx 10 Bx/Case				Item # 1012-47125 (MED 8 LG); Item # 1012-47125 (XL); Curaplex TritonGrip Gloves Blue Nitrile, Powder		(MED), N	Med NIPFT102 NIPFT103 (LG), FT104 (XL)
Delivery Peri	iod			5-7		15		10		ot listed		5-7
Notes		No Addendu	Did not res		ond to ns table within the	Specification & 9	pecifications not met, Line 8		iod was not	Error in extended price calculation. General Conditions 1.c, we will use the unit price.		

Preliminary Bid Tabulation		Clearwater Distribution		Ebisu Supplies LLC		Elite Textile Trading LLC		Global Equipment Company Inc		Globe Medical Surgical Supply Co		
Line Item	# of Cases	Description		Bid Price for 125 Cases		Bid Price for 125 Cases	Bid Price Per Case				Bid Price Per Case	Bid Price for 125 Cases
Section B												
3	125	Size Medium	\$63.00	\$7,875.00	\$45.97	\$5,745.69	\$63.20	\$7,900.00	\$130.80	\$16,350.00	\$180.20	\$22,525.00
4	125	Size Large	\$63.00	\$7,875.00	\$45.97	\$5,745.69	\$63.20	\$7,900.00	\$130.80	\$16,350.00	\$180.20	\$22,525.00
5	125	Size X-Large	\$63.00	\$7,875.00	\$45.97	\$5,745.69	\$63.20	\$7,900.00	\$130.80	\$16,350.00	\$180.20	\$22,525.00
		Grand Total		\$23,625.00		\$17,237.07		\$23,700.00		\$49,050.00		\$67,575.00
Brand & Mod	del Information	r	Sempermed Sempershield SSSC103 (MED), SSSC104 (LG), SSSC105 (XL) 100/bx		Ivieagi #N	uv Nitraskin; //G500M			Industria	-Dex 63-332PF al Grade Nitrile Glove		itguard Med & //bx; XL 130/bx
Delivery Per	iod			5	3-7				5-7		15	
Notes		No Addendu	Technical D		ata Sheet in bid termines does not ecs.	China Yuan Renminhi or Yen				Specifications not met. Line		

Preliminary Bid Tabulation		The Glove Box		Hemera Holding LLC		Henry Schein Inc		Hutchins & Hutchins Inc		Interboro Packaging Corp		
Line Item	# of Cases	Description		Bid Price for 125 Cases		Bid Price for 125 Cases	Bid Price Per Case				Bid Price Per Case	Bid Price for 125 Cases
Section B												
3	125	Size Medium	\$63.93	\$7,991.25	\$38.50	\$4,812.50	\$70.70	\$8,837.50	\$69.35	\$8,668.75	\$39.75	\$4,968.75
4	125	Size Large	\$63.93	\$7,991.25	\$38.50	\$4,812.50	\$70.70	\$8,837.50	\$69.35	\$8,668.75	\$39.75	\$4,968.75
5	125	Size X-Large	\$63.93	\$7,991.25	\$38.50	\$4,812.50	\$70.70	\$8,837.50	\$69.35	\$8,668.75	\$35.78	\$4,472.50
		Grand Total		\$23,973.75		\$14,437.50		\$26,512.50		\$26,006.25		\$14,410.00
Brand & Mod	del Information		Uniseal#702-7 (MED), #702-8 (LG), #702-9 (XL)		Examin #3223664	ex G4 Nitrile ation Gloves 182739 (MED), # 4182746 (LG),	Sempershield SSSC103/7003624 (MED), SSSC104/7003625 (LG), SSSSC105/7003626 (XL)				Med Pride/Shield line/ Safeko	
Delivery Peri	iod			4	5-7		3-10		7		7-10	
Notes		No Addendu	Technical D		ata Sheet in bid etermines does not				Specifications not met, Line 5, 6, &7. No Addendum. Samples provided		ovided. Technical n bid response does not meet bid	

Title: Disposable Medical Gloves

Preliminary Bid Tabulation		iRemedy Healthcare		J & B Medical		Labs United LLC		Life-Assist Inc		Lotus Connect LLC		
Line Item	# of Cases	Description				Bid Price for 125 Cases	Bid Price Per Case					Bid Price for 125 Cases
Section B							City Part ID)				
3	125	Size Medium	\$19.99	\$2,487.50	\$180.00	\$20,000.00	\$88.79	\$11,098.75	\$62.50	\$7,812.50	\$50.40	\$6,300.00
4	125	Size Large	\$19.99	\$2,487.50	\$180.00	\$20,000.00	\$88.79	\$11,098.75	\$62.50	\$7,812.50	\$50.40	\$6,300.00
5	125	Size X-Large	\$19.99	\$2,487.50	\$180.00	\$20,000.00	\$88.79	\$11,098.75	\$62.50	\$7,812.50	\$50.40	\$6,300.00
		Grand Total		\$7,462.50		\$60,000.00		\$33,296.25		\$23,437.50		\$18,900.00
Brand & Mod	del Information	ı	INTCO Synguard Nitrile Exam Gloves: SKU:NGPF7002M, SKU:NGPF7003L,		Medline Glove VS311M, VS311L, VS311XL		Vguard Nitrile Exam Gloves A1EA22/8-10052-97509-2 (MED); A1EA23/8-10052- 97512-2 (LG), A1EA24/8-		(MED), SSSC104 (LG),		Diamond Glove Advance Black	
Delivery Peri	iod			5				3-5		3		5-7
Notes			termines does not	ta Sheet in bid Specification		Specification & 9.	· ·	Specification 5, 6, 8, & 9.	ns not met, Line 4,		ata Sheet in bid etermines does not ecs.	

Title: Disposable Medical Gloves

Preliminary Bid Tabulation		MD Direct Supply LLC		Medline Industries LP		Mersi Distribution LLC		Mini Wing USA		Norfleet Distributors LLC		
Line Item	# of Cases	Description		Bid Price for 125 Cases		Bid Price for 125 Cases	Bid Price Per Case					Bid Price for 125 Cases
Section B												
3	125	Size Medium	\$65.00	\$8,125.00	\$120.00	\$15,000.00	\$111.50	\$13,937.50	\$79.00	\$9,875.00	\$42.00	\$5,250.00
4	125	Size Large	\$65.00	\$8,125.00	\$120.00	\$15,000.00	\$111.50	\$13,937.50	\$79.00	\$9,875.00	\$42.00	\$5,250.00
5	125	Size X-Large	\$65.00	\$8,125.00	\$120.00	\$15,000.00	\$111.50	\$13,937.50	\$79.00	\$9,875.00	\$42.00	\$5,250.00
		Grand Total		\$24,375.00		\$45,000.00		\$41,812.50		\$29,625.00		\$15,750.00
Brand & Mod	del Information	ı	Emerald Brand Glove- NitroMax Blue#2087 (MED), #2088 (LG), #2089 (XL)		VS311M, VS311L, VS311XL		(MED, I	XPMG5008M MG5008I (LG), 5008XL (XL)	Diamond IF 80 Nitril Exam Extended 11" cuff length, 7.5 Mil., 50/bx 500/case		Shield Brand	
Delivery Peri	iod			15	2		5-7		5-15		5-7	
Notes		Did not resp Specification bid. No Add	ond to s table within the		ns not met, Line 6	No Addendi	·		ns not met, Line 4	Did not respond to		

Preliminary Bid Tabulation		North American Import & Export LLC		NTC		Performance Safety Group		Premier Medical Distribution		Pyramid School Products		
Line Item	# of Cases	Description				Bid Price for 125 Cases	Bid Price Per Case	Bid Price for 125 Cases	Bid Price Per Case	Bid Price for 125 Cases		Bid Price for 125 Cases
Section B												
3	125	Size Medium	\$49.00	\$6,125.00	\$120.00	\$15,000.00	\$59.99	\$7,498.74	\$95.00	\$11,875.00	\$69.90	\$8,737.50
4	125	Size Large	\$49.00	\$6,125.00	\$120.00	\$15,000.00	\$59.99	\$7,498.74	\$95.00	\$11,875.00	\$69.90	\$8,737.50
5	125	Size X-Large	\$49.00	\$6,125.00	\$120.00	\$15,000.00	\$59.99	\$7,498.74	\$95.00	\$11,875.00	\$69.90	\$8,737.50
		Grand Total		\$18,375.00		\$45,000.00		\$22,496.21		\$35,625.00		\$26,212.50
Brand & Mod	del Information		Alpha GloveAPM401B (MED), APM401C (LG), APM401D (XL)		Careglove Global NAC24PFT1G2MD, LG, XL		Skintx 50010 (MED), 50015 (LG), 50020 (XL)		5 Nitril Care		HOSPECO#GLN106F (MED), #GLN106FL (LG #GLN105FXL (XL)	
Delivery Per	iod			30		7-10		10		7		14-21
Notes				Specifications not met, Line 8 & 9.				Did not respond to Specifications table within the bid.		Specifications not met, Line 7.		

Title: Disposable Medical Gloves

Preliminary Bid Tabulation		Safeflow Medical LLC		School Health Corp		Sleep Rx LLC DBA Aura Healthcare		SMS Ambassadors Corp		Star Beacon Products Florida		
Line Item	# of Cases	Description				Bid Price for 125 Cases	Bid Price Per Case					Bid Price for 125 Cases
Section B												
3	125	Size Medium	\$65.00	\$8,125.00	\$85.23	\$10,653.75	\$83.00	\$10,375.00	\$50.00	\$6,250.00	\$39.90	\$4,987.50
4	125	Size Large	\$65.00	\$8,125.00	\$85.23	\$10,653.75	\$83.00	\$10,375.00	\$50.00	\$6,250.00	\$39.90	\$4,987.50
5	125	Size X-Large	\$65.00	\$8,125.00	\$85.23	\$10,653.75	\$83.00	\$10,375.00	\$50.00	\$6,250.00	\$39.90	\$4,987.50
		Grand Total		\$24,375.00		\$31,961.25		\$31,125.00		\$18,750.00		\$14,962.50
Brand & Mod	del Information	1	Blackberry Evolution Poweder Free Nitrile Gloves- -XL are 100/bx		Vanguard Safety A1EA2 1000/case		GLNMPFL8- M, L, XL 12 " Nitrile Exam Powder Free Gloves		Safe Handle BLUE NITRILI POWEDER FREE EXAM GLOVES FDA APPROVED MADE IN MALAYSIA,		NitriSkinMG500M,	
Delivery Peri	iod			7-10		25		10		3-5		3
Notes		Did not resp Specification bid. No Add	ns table within the	ond to s table within the No Addendu				Specification 7, & 8.	ns not met, Line 6,	Did not respond to		

Preliminar	y Bid Tabulat	ion	Uni	pak Corp	Uweport LLC			
Line Item	# of Cases	Description	Bid Price Per Case	Bid Price for 125 Cases	Bid Price Per Case	Bid Price for 125 Cases		
Section B								
3	125	Size Medium	\$57.75	\$7,218.75	\$49.90	\$6,237.50		
4	125	Size Large	\$57.75	\$7,218.75	\$49.90	\$6,237.50		
5	125	Size X-Large	\$57.75	\$7,218.75	\$49.90	\$6,237.50		
		Grand Total		\$21,656.25		\$18,712.50		
	del Information	1	N	litromax	ι	JBLUE		
Delivery Per	riod			1-10		7		
Notes					response de meet bid spe	ata Sheet in bid termines does not ecs.Bid response sibly be in China nbi or Yen		